

Rota-Kahaner-Odlyzko's Identity for Stirling Numbers of the First Kind

¹I. Miranda-Sánchez and ²J. López-Bonilla

¹UNITEC-Guadalajara, Av. Niños Héroes 709, Col. Fracc. Quintas Álamo,
 San Pedro Tlaquepaque, Jalisco CP 45560, México

²ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso,
 Col. Lindavista CP 07738, CDMX, México

Abstract: We deduce the companion identity of the expression obtained by Rota-Kahaner-Odlyzko for Stirling numbers of the first kind.

Key words: Harmonic and Stirling numbers

INTRODUCTION

Rota-Kahaner-Odlyzko [1-3] deduced the following identity:

$$\binom{m+n}{n} S_k^{(m+n)} = \sum_{r=n}^{k-m} \binom{k}{r} S_r^{(n)} S_{k-r}^{(m)}, \quad k \geq m+n, m, n \geq 0, \quad (1)$$

Involving Stirling numbers of the first kind [4, 5]. The inversion of (1) is given by:

$$\binom{k}{n} S_{k-n}^{(m)} = \sum_{r=n}^{k-m} \binom{m+r}{m} S_k^{(m+r)} S_r^{[n]}, \quad m, n \geq 0, k \geq m+n, \quad (2)$$

whose application for $m = 1$ allows obtain the interesting relation:

$$\sum_{r=n}^{k-1} r S_k^{(r+1)} S_r^{[n]} = \frac{(-1)^{k+n+1} (k-1)!}{(n-1)! (k-n)}, \quad k \geq n+1, \quad (3)$$

where were employed the expressions [3, 4]:

$$S_{r+1}^{(1)} = (-1)^r r!, \quad \sum_{r=n}^{k-1} S_k^{(r+1)} S_r^{[n]} = \frac{(-1)^{k+n+1} (k-1)!}{n!}. \quad (4)$$

From (2) with $m = 2$ results an identity between Stirling and harmonic numbers [5]:

$$H_{k-n-1} = \frac{(-1)^{k-n} n! (k-n)}{2 \cdot k!} \sum_{r=n}^{k-2} (r+2) (r+1) S_k^{(r+2)} S_r^{[n]}, \quad k \geq n+2, \quad (5)$$

where it was used the property [4]:

$$S_r^{(2)} = (-1)^r (r-1)! H_{r-1}. \quad (6)$$

If in [2] we make the changes $k \rightarrow -k$, $m \rightarrow -m$ and we apply the relations [4, 6, 7]:

$$\binom{-m}{j} = (-1)^j \binom{m+j-1}{j}, \quad S_{(-j)}^{(-m)} = (-1)^{m-j} S_m^{[j]}, \quad (7)$$

Is generated the expression:

$$\binom{k+n-1}{n} S_m^{[k+n]} = \sum_{r=n}^{m-k} \binom{m-1}{r} S_r^{[n]} S_{m-r}^{[k]}, \quad m \geq k+n, k, n \geq 0, \quad (8)$$

For Stirling numbers of the second kind, which we can consider as companion of (1). The identity (8) for $k = 1$ implies [3]:

$$S_m^{[n+1]} = \sum_{r=n}^{m-1} \binom{m-1}{r} S_r^{[n]}, m \geq n+1, n \geq 0, \quad (9)$$

and for $k = 2$:

$$\sum_{r=n}^{m-2} \binom{m-1}{r} 2^{m-r} S_r^{[n]} = 2(n+1)(S_m^{[n+2]} + S_{m-1}^{[n+1]}), m \geq n+2, n \geq 0, \quad (10)$$

where it was applied the relation [4]:

$$S_q^{[2]} = 2^{q-1} - 1, q \geq 2. \quad (11)$$

If in the expression [8]:

$$\sum_{r=0}^n S_{m+r}^{[k]} S_n^{(r)} = \sum_{j=k-n}^m n^{m-j} \binom{m}{j} S_j^{[k-n]}, m, n \geq 0, 0 \leq k \leq m+n, \quad (12)$$

we put $n = 2$ and after we realize the changes $m \rightarrow m-1, j \rightarrow r, k \rightarrow n+2$ results (10) again.

REFERENCES

1. Rota, G.C., D. Kahaner and A. Odlyzko, 1973. On the foundations of combinatorial theory. VIII. Finite operator calculus, *J. Math. Anal. Appl.*, 42: 684-760.
2. <https://math.stackexchange.com/questions/355574/stirling-numbers-combinatorial-proof>, 2003.
3. Sándor, J. and B. Crstici, 2004. *Handbook of number theory. II*, Kluwer Academic, Dordrecht, Netherlands.
4. Quaintance, J. and H.W. Gould, 2016. *Combinatorial identities for Stirling numbers*, World Scientific, Singapore.
5. López-Bonilla, J. and R. López-Vázquez, 2020. Harmonic and Stirling numbers, *African J. Basic & Appl. Sci.*, 12(2): 32-33.
6. Knuth, D.E., 2003. *Selected papers on Discrete Mathematics*, CSLI Lecture Notes, No. 106.
7. López-Bonilla, J., J. Yaljá Montiel-Pérez and S. Vidal-Beltrán, 2018. Stirling numbers with negative indices, *World Scientific News*, 101: 217-221.
8. López-Bonilla, J. and M. Morales-García, 2020. Chen and Stenlund relations for Stirling numbers, *Comput. Appl. Math. Sci.*, 5(2): 30-31.